VYPIS VYZTUZE ZB DESKY NAD 1.NP

76-
POL. | @ TVAR (E;' KS | R6 | R8 | R10| R12| R14| R16 |.450150
1 |[R10 4480 4,48| 16 72.0
2 | R12 6260 6,26| 30 187.8
3 |R12 6520 6,52| 18 117.4
4 |ri2 3000 300| 2 6.0
5 | R12 9100 9,10 23 209.3
6 | R12 8950 8,95| 12 107.4
7 |R10 3500 3,50 24 84.0
8 |R12 1200 1.20| 97 116.4
9 |R12 6000 6,00( 15 90.0
2500
170 170 71.3
10| R12 L130 1304 310 23
11 |R8 4470 4,47| 11 49.2
1200
12 |R12 170 70
730 T30~ 1,70 79 134.3
13 |R8 9740 9,74| 7 68.2
14 |R8 5900 5,90| 7 4.3
150 60
60
15 | R6 770 770 1,96 [ 50 |98.0
150
16 | R14 6500 6.50| 12 78.0
125 60
60
1,31 58.9
17 | R6 470 470 45
125
18 | R12 2700 2,70| 4 10.8
19 | R12 7650 7,65 6 45.9
20| R10 6500 6.50| 2 13.0
S 0N g STRIH 1000x2000 3 6.0
1150/150 150 S X :
86— 750
S2 Lsopp 000 T STRIH 750x2000 8 12.0
bm | 1569 | 1587 | 169.0 | 109656 | 780 180
kg | 30 | 630 | 1050 9740 950 540

OCEL:10 505(R) CELKEM KG=1272
KARI CELKEM KG=54

u8o, di=2,78m, ks=4 kg/m=8,64 kg/ks=24,1 kg celkem=96,1
A 250x250%10, ks=4 kg/ks=4,9 kg celkem=19,6
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